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102. 

a) 1 ln 0x+   ; ln 1x  −  ; 1ln lnx e−  ; 1x e−  . 

b) 2 ln 0t−   ; ln 2t   ; 2ln lnt e  ; 2t e  . 

c) ln3 3x  −  ; 3ln3 lnx e−  ; 33x e−  ; 31

3
x e−  . 

 

103. 

a) Résolvons l’inéquation ( ) 0f x   ; 1 ln 0x−   ; ln 1x   ; ln lnx e  ; x e  . 

De même, ( ) 0f x   équivaut à x e  . 

Donc : si 0 x e   , ( ) 0f x   et si x e  , ( ) 0f x   . 

b) Résolvons l’inéquation ( ) 0f t   . 

1 2ln 0t+   ; 2ln 1t  −   
1
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2

t  −  ;
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−
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De même, ( ) 0f t   équivaut à 
1

2t e
−

  . 

Donc : si 
1

2t e
−

  , ( ) 0f t   et si 
1

20 t e
−

   , ( ) 0f t   . 

 


